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1. Which shows the graph of the equation y = "x - 3?
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2. Which is the graph of y = 3x — 7?
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3. Which shows the graph of the equation y = 2x + 4?

A

Y

&

+6

*5

+

+2

+1
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5 "4 =3 ~
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+

2 +3 +
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=3

4
=5

-6

+6

+d

+3

+2

+1

54 -3 -

10
-1

4 +5 +

-2

4

~+~6

-5

4. Which graph shows a line with a slope of 3 and a y-intercept of ~7?
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5. Which is an equation of the line graphed below?

NS
Nt
+
+
N
* \
6 =5 =4 3 2 -1 0] 71 N3 "4 5 6 "X
bl |
- N
- N\
\
-4 '
-5
~6
A _
3
W = EX—B
B. _
3
V= §x+3
C.
3
y_EX—B
D.
3
y_§X+3
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6. Which is an equation of the line graphed below?

Y
3
*q
+3
+2
|
“=4-3 2%1 0 FLi2+3+4 | X
=1
_4\
r
A= -3
B. 1
= —x— 3
¥ 2
C. 1
= —x- 3
4 2
Dy = "2 3
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7. Which is an equation of the line graphed below?

’\ [
i
+6

6 5 4 3 -2 10| *1 *273 *4 5 *6

“6
Ay =2x
B y=x+2
C. y="X+ 2
D. y = 2X
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8. Which is an equation of the line graphed below?

y
-~
+ﬁ
5 o
+
+3 /
.
1
" i
< ] = ¥
-6 =574 -3 -2 -1 0| L 2 +3 +4 +5 4
g
=g
=3
-4
-5
-6
A= 24 2
B. _ 1
W = 2,:r<+2
c. "1
W= 2><'+2
Do y= 2%+ 2
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9. Which is an equation for the line graphed below?

A= B+ 2
B. "1

W= 3><'+2
c. . 1

W = 3,><+2
Do y=3x+ 2

10. Which graph shows the line of the equation y = 74x + 2?

A
-~
* +1 +2 +3 +4+5+5=X

=4
+=5
=6

¥
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11. Which graph shows a line with a slope of 2 and a y-intercept of 1?

A %

£l

\! o
L.
h +4 |

s |

+1

-1
2

654372710 1+2 +3 +4 +5 46
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+4 /

+3
+2
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"6 °5°4°3°2-10[/+142+3+4 4546

| =3
T =4
/s

12. Which is an equation of the line graphed below?

Y

*6
+5 e

Rpaa

*3 7

s

Ll /+1 . |
~— 'V"ﬁ - -X
6 5/ 2710 *1 %2 +3 *4 +5 +g

‘I/ -1

-2
-3
~4
-5
“6
A 2
= —x — 3
¥ =3
B 2
= =X+ 2
=3
3
C. Vo= =5+ 2
2
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13. A line is graphed below.

What are the coordinates of another point the line passes through?

+] +

i

5+

B

7

'

A (79, 8)
B. (11 0)
c. (6,72)
D. (81 _4)
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14. What is the equation of a line that goes through the points on the graph

below?
y
'y
*& ™
*5
*4
31 o
+
*1
% 5 4 3 =2 1 0] "1 2 °3 4 5 75 X

1
.
& 3
-4
5
6

A y=X

B- y=x-3

C. _1

D y=3x
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15. Which is an equation of the line graphed below?

4

6

*5

*1

4
7
3 {

"6

-5 -

2710

1 +

4 +

5 *6

-1

=2
~3

-4

-5

-6

A y="3x+3
B. y=x+3

C. y=3x-3

L

16. Which choice shows the graph of y = 0.5x + 2?

A

Y

<4 +R |-

b
*6

+5
\::

2+

5 %6t

718
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L +2+3 *4 45 *g *7 1B

17. Which is an equation of the line graphed below?

"6 -5~ 5 +g

A y="4x+ 4
BB y=x+4

C. y=4x+ 4

18. Which graph shows the line of the equation y = 71.5x - 4?

NAMSCM1314EE.6 Page 22 of 63

@{choolnet.



F Y
HG
+5
\ 4

+2
\ 1

"6 "5 ~4 “3N2 10| *+1 2 +3 +4 45 +6
-1

\_2

-5
\
ol N\

-
=
+5
+q
+3
+2
+1

6N 4 372 710| *142+3 444546

N

NAMSCM1314EE.6 Page 23 of 63

@{choolnet.



4
+5
+4
+3 -‘x
+3 /

|
(53]
]
(F5]
I
i
I
Led
I
Pl
I
iy
=]
+
[y
+
+
w
+

4 +5 46

L+l
+5
+q
+3
+2
+1

=6 "5 74 -3 "2 "1 0| +1 +2 +3 +4
-1 e
2

\ +

| >

19. Which is the graph of the equation y = 2x — 3?
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20. Which is the graph of y = 3x — 7?
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21. Which is the equation of the line on the graph below?

A
6
+5

L +a
*3

| =

L+

T 6 "5 43 "2 10 7’1+2 +3 +4 +5 +g 7

Y

A y=2x+1
B. y=2x—2

C y=x+1
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22. Which is an equation of the line graphed below?

+6
+5
+4

=1}

[

6 -5 4 -3 —7*1 0 +1 +2 +3 +4 +5 +6

-5
-6
Y
A y=3x+ 4
1
B y=Zx+4
3
!
Cy= Zx+ 4
3
Do y="3x+4
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23. Which equation represents the line graphed below?

y

&

6
1+5
L+q

+3 |

" P

| +1 4 ! |
pd X

"6 5 4 -3 -2 10 L7 *3 4 %5 *6

r

e -5

¥
A 2 L
= —x - —
4 3 3
B. 2 1
= —x - —
4 3 3
C. 3 5
= —x - —
4 2 2
D. 3 1
= —x - —
4 2 2

24. Which shows the graph of the equation y = 72x + 3?
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25 Which is the graph of the equation y — _%Xur >7?

A y
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26. Which is an equation of the line graphed below?

y

s

3 -

3

g+

5

*6

A y="4x+ 2
B. y="2x+4

C. y=2x+4
D. y=4x+ 2
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27. Which is an equation of the line graphed below?

Y
*6 T
*5
+4 /‘
L+3 ! L
L+2
L+q I
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28. Which is an equation of the line graphed below?

y

Fy
+6
+5
+4
- +3

+2

\$+1
- = X

6 "5 4 -3 -2 -10 +2 +3 +4 +5 +6
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-2

C. 1
y ==X
2

29. Which is the graph of the equation y = x + 3?

A
Y
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-
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30. Which graph below shows the line for the equation y = 2x + 47

A y

A
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+d
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+

i

+1

"6 7574 °3-2°10 *1+2+3 +Ig*6
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2
=3
=4
-5
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|
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=gl — \
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2
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31 Which is the graph of the equation y - _§x+ 6 ?
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L

5 ‘_4 =3 -2 -
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+-1

-2

-3
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-5
6

32. Which shows the graph of the equation y = 2x - 4?
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L i
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1
“8-7°6°5 4°3°2°10 +1A+3+4+5+5+?+B X

y
o
e
+5
+o
+3
+=
Y
1 >
- = X
6 "5 "4 —3 "2 10| *1 *2 *3_t&47%5 +6
-1 #’HF"‘/“/-
ey ]
P vl B
.-""#f -
—4
el .
i
A y=25x+5
B. y=25x-2
C. y=04x+5
D. y=04x-2
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34. Which is the graph of y = "x + 37

A

© 65 74/3°2 710 *142+3+4+5+6

++g|-
+5
+d

+2
+1

654 -3-2-10 *1+2 *N/4 *5 *6
-1

2
=3
=4
-5
L-g|
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++B|-
+5
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+32 /
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"6 "5 "4 -3 -2-10[ +1+3/%3 +4 45 +6
-1

2

=,

=4
-5

A

35. Which choice shows the graph of = %x+ 27
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++g|-
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+2
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6 75 4 -
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4 +
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-1
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=4
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L5l

36. Which is the graph of y = "x - 2?
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&
=
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+q
3

+1
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+6
+5
+4
+3
+2
+1

=6 "5 74 -3 "2 "1 0| +1.42 +3 +4 +5 +5§
-1

-3

=3
=4
=5

s B

E
" /
+5
+é /
+3

/

=6 "5 74 "32 T10| +1 +2 +3 +4 +5 +5§
-1

-g|

37- Which shows the graph of the equation  — _%X _27?
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L
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=+ N |
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38. Which shows the graph of the equation y = 2x — 6?

A
~ L
8

7
\ N +5 |-
. ‘s
\ :
\ :
| +2
- \'. +1 ¢
TET7 765 4 A2 -1_51 T 273 74 75 76 77 7 | X
_ . _

\'3

4

G
-7

7IN
¥
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"B -7 65432 10 *1 7273 +4+5 ‘B 7B

"B "7 765 4 73°2°10[ t1+2+3 445 *6 7 B
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39. Which is an equation for the line shown on the graph below?

y
11.
&
*5
*4
*+3
*o

+

AN x

" -6 -5 —4 -3 -2 10| *1 *3 t4 *5 *g

&l
-2
-
~4
5
6
Y
A 3
= -x+1
V=3
B. 2
= —x+1
V=3
C. Tz
= —x+1
=3
D. T3
= —x+1
=3
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40. Which is an equation of the line graphed below?

y

A
1R /

7
1R f,‘f
l+g
1+4
|3
{+2 / -

i*llf
"B-7 675 "4°3 7271 0 +1+2+3 +4 45 +g +7 +g

r
L J
v

B
. =7
a:
J k4
Ay =3x
Bo y=x+3
C y=x-3
D=Ly
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41. Which is an equation of the line graphed below?

Yy
-~
6 x
e
+ .-/
+4
/,(3
// +3
e £
=675 =4 =3 —2 “1 0] 1 2 73 ¥4 75 76 X
1
—2
3
~4
-5
~6
A L
y= X+ 4
B 4
y= X+ 4
~4
C y= Zx+ 4
3
D -5
y= X+ 4
42. Which choice is the graph of y = "2x + 4?
NAMSCM1314EE.6 Page 56 of 63

@{choolnet.



4

=

+5

+2

+1

10
-1

o+

3+

4 +

5 +
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=

+5

+q
+3

+1
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2

=3
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L
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+2
+1

"6 "5 "4 ~3 "2 -10| *+1 ‘X 3 +4 45 +6

6 75 74 T3 72 710 +1 +2 £F 74 +5 456
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43. Which is an equation of the line graphed below?

*4

*y

10

s |

=2

4

3
A W= —x+ 2
2
B 2
= —x4+ 2
V=3
—2
Cy= Zx+2
3
D RG]
= —x+ 2
¥= 3
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44. Which is an equation of the line graphed below?

A= 3x+1
By ="+ 3

c y=_1x+1

45. Which graph shows the line of the equation y = 2x — 6?
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L +2 #3 "4 5 *5 *7 1B

46. Which is an equation of the line graphed below?

Y
*6
*5
4 /!
*3
*2

+

=6 -5 -4 -3 -2?/-:: W12 3 4 45 46 X

A y="2x+1

y=x+1

C y=2x+1
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